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# include < stdio. h>
# include < stdio. h>
# include < string. h>

# define N 3 MR FRGA 3 KB
# define M 5 /MR R G 5 ik
struct {

char type[10]; e & e 3!

int count; /190 & & B

int remain; [/ BRA B AT 43 T i 4 A

int address; /1R ZEVE 55 TEBE £ 32 P 1YL Ui b ik
}equip type[N]; [1E KRR BERGEA n DA
struct {

int number; VIR &% DRz

bool status; /1 Wi 15 2 RS A 3R

bool IsRemain; VA% &- 2T

char jobname[10]; // i %A BAE L 44 R

int lnumber; / /% 5 A X5
}equipment[M]; /15 REN MBRERGEA n A
/%% 5 L PR

bool allocate(char * job,char * type, int mm)
{
int 1=0,t;
/1 WZR B
while (i< N&&strcmp(equip type[i]. type, type) != 0) i++;
A Z R & e S
if (i >= N)



}

printf ("R B, BT IR KRIK");
return(false);

}

/1 BT U A BUAE 1 R AR A

if(equip type[i].remain<1)

{
printf ("IZR WA EE AL, B A EIEREIK");
return(false);

}

/7% B2 20 £ A 1 A5 3% TP R R b ik

t =

while (! (equipment[t].status == true && equipment[t].IsRemain == false))

equip type[i].address;

t++;
[TEE AR B A X = GRS
equip type[i].remain-—— ;
equipment[t]. IsRemain = true;
strcpy(equipment[t]. jobname, job) ;
equipment[t]. lnumber = mm;

return true;

/ /8 5% 1m1 s R

bool reclaim(char * job,char * type)

{

int i=0,t,j,k=0,nn;

while (i< N&&strcmp(equip type[i].type, type) !'= 0) it+;

/1A RBIZIE R

if (i >= N)

{
printf ("TCIZR B, B AT EE KRR ;
return(false);

}

/175 B)i% 20 A5 AR B4 2% Hh (19 4 b ik

t = equip type[i].address;

/178 BN I% RV I B

j = equip type[i].count;

nn = t + j;

/116 BV g AT A P BR AS F2 2E 5 # mT H A

for( ; t<nn; t++)

{

if (strcmp(equipment[t]. jobname, job) == 0 && equipment[t].IsRemain == true)
{

equipment[t]. IsRemain = false;
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equip type[i].remain = equip type[i].remain + k;
if(k == 0) printf("fE &A@ HZERS");
return true;
}
void main()
{
char job[10];
int i, mm, choose;
char type[10];
strcpy(equip type[0]. type, "input"); //% £ 258 g Ak 5%
equip_type[0].count = 2;
equip type[0].remain = 2;
equip_ type[0].address = 0;
strcpy(equip type[1]. type, "printer");
equip type[l].count = 3;
equip type[l].remain = 3;
equip type[l].address = 2;
strcpy(equip type[2]. type, "disk");
equip_type[2].count = 4;
equip type[2].remain = 4;
equip type[2].address = 5;

for (i=0;i<5;i++)
{
equipment[ i]. number = 1i;
equipment[i]. status = 1;
equipment[i]. IsRemain = false;
}
while(1)
{
printf("\n0 —— iR, 1 - ZHc, 2 —— [\, 3 —— BR");
printf ("\n FHELEEEI:");
scanf (" % d", &hoose) ;
switch(choose)
{
case 0:
return;
case 1:
printf ("3 AN 4 A TR B A SRR A A XS ) ;
scanf(" $s%s%d", job, type, &mm) ;
allocate(job, type, mm); /153 BB 5%
break;
case 2:
printf ("I A E N 4 FAE L B HE A 25 )
scanf (" %$s% s", job, type);
reclaim(job, type); ALY S &
break;
case 3:



printf ("\n fi B 2K K \n");
printf(" ¥4 I\ B A B0\ e 2 IR B4 R \n')
for(i=0;1<N;i++)

printf(" %$8s% 10d % 18d\n", equip_type[i]. type, equip type[i].count, equip type[1i]

. remain);
prdmEE (7 ========================================== \n");
printf ("4 1A E KR \n") ;
printf ("4 X5 R G SE S HEL A AXF S \n");
for(i=0;1i<M;i++)

{

printf(" $3d% 7d % 8d % 10s % 7d\n", equipment[ i]. number, equipment[i]. status,
equipment[ i]. IsRemain, equipment[ i]. jobname, equipment[ i]. lnumber) ;
}
break;
default:

return;
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